Pesynbrar IBer
3.6:0.4 Po3oBbIi
6.04: 0,08 Kopuunerslit
0.8%1.25 Kpacuprii
0.2:0.3 CHHHIt
1:20 ACEnTHIH

13,07-8 bensrit
406,8:10 3eleHBbIH

6:0.04 OpaHKeBbIil
1.7*%1.1 Ceprrii
3.42:6 bopmosslit




Pesymerar IIBer
6.8:0.2 KopuuHeBwIii
0.5+3.05 be:xennlil
0,35-0.017 Ceetno- 3eleHbli
3.94+1.06 CHHHI
2.3%1.35 JKEnTeIit
8%0,125 YeEpHbIii
0.25*%10 3eeHBbli
1:0.5 OpamKeBhiil
78.12-78,12 KpacHsbrii




-umy

90,25
3,1* (1,2 + 1,8)°+0,3

0,62 + 0,22 (7324 — 71008 +-01°

0,72— 0,52 - 9,52

(123-18) 64,78%0

W



68,017+4,12

Pesynerar Lser
13,05 KpacHBIi
0,72 roiyooit
2,711 (bHOIETOBEIIT
10 KENTHIH
72,137 OpaHKeBBIil
1 3eNEHBII




